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AT MEISX
A HAH2AAHI (A SR

&t D=3l (el &)
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
HH2HZHI(ALSISXID) 59,110 56,875 2,235
Jl23l 59,110 53,095 6,015
Fa==A2el 3l 26,800 22,766 4,034
201 LBt A 14,000 14,166 A 166
01 AtE222|H] 14,000 14,166 A 166
Olger+=&Hl] 10,000
ORNEZE SUAHA 10,000,000& * 14 10,000
Ol=gl] 4,000
OFN2ZE SHUAHL 4,000,000& = 14l 4,000
202 O4Hl 8,600 8,600 0
01 =WOYI 8,600 8,600 0
ORN2IEUAHL 20,000 * 52! * 86 8,600
203 HRF&H| 4,200 0 4,200
04 BEASSIHFFEHI 4,200 0 4,200
ORN2IHRFAHI 350,000& = 12& 4,200
Otsdad e dl 10,150 9,189 961
201 LetEHH| 6,750 5,787 963
01 AFR22lH| 6,750 5,787 963
Olget=gHl] 3,150
ORN2ZE SUA L 3,150,000& * 14 3,150
Ool=&tl] 3,600
ORN2Z SHUAL 3,600,000& = 14 3,600
202 O4Hl 3,400 3,402 N2
01 =LA b 3,400 3,402 A2
ORN2E SHAL 20,000& * 20! * 85« 3,400
HeZzae| 3| 11,200 11,189 11
201 B3| 6,000 6,048 A48
01 AtSR22/Hl 6,000 6,048 A48
Olget=gHl] 3,000
ORN2Z SHUAL 3,000,000& * 14l 3,000
Ol=&tl] 3,000
ORNEZE SUAHA 3,000,000& = 14 3,000
202 O4dl 5,200 5,141 59
01 =Wl 5,200 5,141 59
ORN2E SHUA L 20,000& * 491  65¢ 5,200
?| A4 2te| Z i 10,960 9,951 1,009
201 LBt 3| 5,020 5,018 2
01 AtE222|Hl 5,020 5,018 2
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A AR S X1
Y YA (AMSI=X1)
&t D=3l (el &)
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
Olger==&Hl] 2,380
ORAME2E SHAH 2,380,000& » 14 2,380
olzzH] 2,640
ORAM2E SHHA 2,640,000& * 14 2,640
202 O4Hl 5,940 4,933 1,007
01 =AY 5,940 4,933 1,007
ORAN2Z SHA G 20,000& = 3¢l » 99 5,940
HRES(AZS X1 100,000 100,000 0
LHEHHXI = 100,000 100,000 0
HeagdIIZa =4 100,000 100,000 0
02 JIsdEsS 100,000 100,000 0
01 JISHES 100,000 100,000 0
OdEdII=s ME3 100,000,000& * 13 100,000
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